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Programm mit fork

hit() { printf("%d, _", x++); x += 3; }
X =1;

main() {
hit();
fflush(NULL);

pid = fork();
if (pid > 9) {

wait (NULL);
hit();

X = 0;
hit();

printf("\b\b_\r\n");
} else if (pid == 0) {

hit();

1 else {
hit();
perror("Fehler!\n");
exit(-1);

}

return 0;



Programm mit fork

hit() { printf("%d,__", x++); x += 3; } Speicher
X = 1, Datensegment, 101
E main() { BSS und Heap
hit(); X =1
fflush(NULL);
pid = fork(); stdout: [Empty]
if (pid > 9) {
wait (NULL);
hit();
X = 0; Stack
hit();

printf("\b\b_\r\n");
} else if (pid == 0) {

hit();

} else {
hit();
perror("Fehler!\n");
exit(-1);

}

return 9;
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Programm mit fork

hit() { printf("%d,_", x++); x += 3; }

X = 1;
main() {
PC (101) Y hit();
fflush(NULL);
pid = fork();

if (pid > 9) {
wait (NULL);
hit();

X = 0;

hit();
printf("\b\b__\r\n");

} else if (pid == 0) {
hit();

} else {
hit();
perror("Fehler!\n");
exit(-1);

}

return 9;

}
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Programm mit fork

PC (101) )

hit() { printf("%d,_", x++); x += 3; }

X = 1;

main() {
hit();
fflush(NULL);

pid = fork();
if (pid > 9) {

wait(NULL);
hit();

X = 0;
hit();

printf("\b\b_\r\n");
} else if (pid == 0) {

hit();

} else {
hit();
perror("Fehler!\n");
exit(-1);

}

return 9;
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Programm mit fork

hit() { printf("%d,_", x++); x += 3; } Speicher
X = 1;

. Datensegment, Datensegment,
maln() { BSS und Heap L BSS und Heap LY
hit(); _ B

X =5 X =5
fflush(NULL);
(101)>> pid = fork(); stdout: [Empty] stdout: [Empty]

if (pid > 0) {

i__139__(_19}l/;ﬁi%'}‘““” pid = 102 pid = @

X = 0; Stack Stack

orints KIND
printf("\b\b_\r\n");
- >-else if (pid == 0) {
i PC (102) »hit();
""""" Felse {
hit();
perror("Fehler!\n");
exit(-1);

}

return 0;
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Programm mit fork

hit() { printf("%d,_", x++); x += 3; } Speicher
X = 1;

. Datensegment, 101 Datensegment, 102
maln() { BSS und Heap BSS und Heap
hit();

fflush(NULL); — S
pid = fork();
if (pid > 0) { . I
PC (101)>\;IdiiE§I:IULL), Hier warten! pid = 102 pid = 0
X = 0;
hit(); KIND
printf("\b\b_\r\n");
I l_glse if (pid == 0) {
i PC (102) »~hit();
""""" T else {
hit();
perror("Fehler!\n");
exit(-1);

stdout: [Empty] stdout: [Empty]

Stack Stack

}

return 0;
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Programm mit fork

hit() { printf("%d,_", x++); x += 3; }

X = 1;

main() {
hit();
fflush(NULL);

pid = fork();
if (pid > 9) {

i PC (101) »>wait(NULL);
" hit();
X = 0;
hit();
printf("\b\b_\r\n");
} else if (pid == 0) {
PC (102) » hit();
T else {
hit();
perror("Fehler!\n");
exit(-1);

}

return 0;
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Programm mit fork

hit() { printf("%d,_", x++); x += 3; } Speicher
X = 1;

. Datensegment, 101 Datensegment, 102
maln() { BSS und Heap BSS und Heap
hit();

fflush(NULL); _ X =9
pid = fork();
if (pid > 9) {
£ (101)>¥,“§if§':'uu)’ pid = 102 pid = ©
X = 0;
B KIND
printf("\b\b_\r\n");
} else if (pid == 0) {
hit();
} else {
hit();
perror("Fehler!\n");
exit(-1);

stdout: [Empty] stdout: [Empty]

Stack Stack

}
PC (102) > return 0;
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Programm mit fork

hit() { printf("%d,_", x++); x += 3; }

X = 1;

main() {
hit();
fflush(NULL);

pid = fork();
if (pid > 9) {

wait(NULL);
PC (101) » hit();
X = 0;
hit();

printf("\b\b_\r\n");
} else if (pid == 0) {

hit();
} else {
hit();
perror("Fehler!\n");
exit(-1);
. .t
: PC (102) * return 0;

-------------------------
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Programm mit fork

hit() { printf("%d,_", x++); x += 3; }
X = 1;

main() {
hit();
fflush(NULL);

pid = fork();
if (pid > 9) {

wait(NULL);
hit();

PC (101) > int x = 0;
hit();

printf("\b\b_\r\n");
} else if (pid == 0) {

hit();
} else {
hit();
perror("Fehler!\n");
exit(-1);
. .t
: PC (102) * return 0;

-------------------------
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Programm mit fork

hit() { printf("%d,_", x++); x += 3; }
X = 1;

main() {
hit();
fflush(NULL);
pid = fork();
if (pid > 9) {
wait (NULL);
hit();

X = 0;

PC (101) » hit();
printf("\b\b_\r\n");
} else if (pid == 0) {

hit();
} else {
hit();
perror("Fehler!\n");
exit(-1);
. .t
: PC (102) * return 0;

-------------------------

Speicher

Datensegment, 101

BSS und Heap

X = 13

stdout: 5, 9,

pid = 102

X =0
Stack

Terminalkonsole



Programm mit fork

hit() { printf("%d,_", x++); x += 3; } Speicher
X = 1; .
atensegment,
main() { BSSundgHeap i
hit(); x = 13
fflush(NULL);
pid = fork(); stdout: 5, 9, \b\b \r\n

if (pid > 9) {

wait (NULL); pid = 102

hit(); X = 0

X = 0; Stack
hit();
PC (101) » printf("\b\b_\r\n");

T else if (pid == 0) {

hit();
} else {
hit();
perror("Fehler!\n");
exit(-1);
......................... }
i PC (102) .* return 0;

-------------------------
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Programm mit fork

hit() { printf("%d,_", x++); x += 3; } Speicher
X = 1; <
atensegment,
main() { BSSundgHeap L
hit(); % = 13
fflush(NULL);
pid = fork(); stdout: 55 95 \b\b \r\n

if (pid > 9) {

wait (NULL); pid = 102

X = 0; Stack
hit();

PC (101) » printf("\b\b_\r\n");
T else if (pid == 0) {

hit();
} else {
hit();
perror("Fehler!\n");
exit(-1);
......................... }
i PC (102) .* return 0;

-------------------------
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Programm mit fork

hit() { printf("%d,_", x++); x += 3; }

X = 1;

main() {
hit();
fflush(NULL);

pid = fork();
if (pid > 9) {

wait(NULL);
hit();

X = 0;
hit();

PC (101) » printf("\b\b_\r\n");
T else if (pid == 0) {

hit();
} else {
hit();
perror("Fehler!\n");
exit(-1);
. .t
: PC (102) * return 0;

-------------------------
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Programm mit fork

hit() { printf("%d,_", x++); x += 3; }

X = 1;

main() {
hit();
fflush(NULL);

pid = fork();
if (pid > 9) {

wait(NULL);
hit();

X = 0;
hit();

PC (101) » printf("\b\b_\r\n");
T else if (pid == 0) {

hit();
} else {
hit();
perror("Fehler!\n");
exit(-1);
. .t
: PC (102) * return 0;

-------------------------
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Programm mit fork

hit() { printf("%d,_", x++); x += 3; }

X = 1;

main() {
hit();
fflush(NULL);

pid = fork();
if (pid > 9) {

wait(NULL);
hit();

X = 0;
hit();

PC (101) » printf("\b\b_\r\n");
T else if (pid == 0) {

hit();
} else {
hit();
perror("Fehler!\n");
exit(-1);
. .t
: PC (102) * return 0;

-------------------------
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Programm mit fork

hit() { printf("%d,_", x++); x += 3; }

X = 1;

main() {
hit();
fflush(NULL);

pid = fork();
if (pid > 9) {

wait(NULL);
hit();

X = 0;
hit();

PC (101) » printf("\b\b_\r\n");
T else if (pid == 0) {

hit();
} else {
hit();
perror("Fehler!\n");
exit(-1);
. .t
: PC (102) * return 0;

-------------------------

Speicher

Datensegment,
BSS und Heap

101

X = 13

stdout: Xr\n

pid = 102
X =0

Stack

Terminalkonsole



Programm mit fork

hit() { printf("%d,_", x++); x += 3; }

X = 1;

main() {
hit();
fflush(NULL);

pid = fork();
if (pid > 9) {

wait(NULL);
hit();

X = 0;
hit();

PC (101) » printf("\b\b_\r\n");
T else if (pid == 0) {

hit();
} else {
hit();
perror("Fehler!\n");
exit(-1);
. .t
: PC (102) * return 0;

-------------------------
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Programm mit fork

hit() { printf("%d,_", x++); x += 3; }

X = 1;

main() {
hit();
fflush(NULL);

pid = fork();
if (pid > 9) {

wait(NULL);
hit();

X = 0;
hit();

printf("\b\b_\r\n");
} else if (pid == 0) {
hit();
} else {
hit();
perror("Fehler!\n");
exit(-1);

}
PC (101) > return 0;
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